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Chapter 4

GIVEN ' AC= 36x10%°m

FIND: AB
SOLUTION :
= 180°. 31°_ 23°. 126°

LAW of Ses
AB Ac
- —_—

s X e 23°

AB = AC (sinl))
s 23°

= (3.6 v10°m ) (= 126°)
S 23°

= 75 %x10%n
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GIVEN: B IS HoRIZONTAL
x=31° @=22° |Bls2%m
FIND: KL, IC)
SOLUTION!
LAw oF SINES
¥ 18O~ «-8
= 180°- 319-22° = 127°
1€\ = B\
s Y swg
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ICl= BlanY 4 (29m) (=i 1279
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FIND: R
SOLUTION::
Law oF Cosines
IRIZISF+ITIE 21snTi cos 35°

IRI*= (21)*(38)*- (2)(21)(38) cos 35°
IRI*: 577.63

IRl = 24.03
Law oF SiweES
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GIVEN: VW=WX=XY
VY= 20m

FIND: XT, XZ

SOLUTION:

TANE - ———‘f:

p= TaN'(£2)= 14.04°
= 5-; = —x-—z-

sm@ XY 20/3

XZ = (3§-) s 14.04°
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3
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AREA FORMULA ¢
ARES = 2L (&) (B) =

<
B
A

FOR RST
ARE A= (3){120)(90) sin

FIND: UT & AREA oF 2
PLOT 4894 .06 m

SOLUTION: FOR RUT
Law ofF Cosiues

RTZ = (ps) 4 (=7)°

AREA.* (5)(130)(108.70) 5!

& & m?
~(2)(5T)(RS) cos (RST) P
= (120)*+ (90)* ToTtaL AREA= || 852
- (2)120)(%0) cos 115 % 1.19x10% m?

RT2: (RU)? 4 (UT)®
- (2)(RU) (UT) cos(RUT)
= (I30)*+ {(UT)?
- (2) (1I3o}uT) cos 100°
- |77.84
(UTYE, 4515 uT)-16722=0
4515 2 J@4S.5)-@)-16722)
2

-45.15 2 262 .54
2

UT=

= - I53.85, 108,70

S UT - |09m
— —3
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FiNnD :
AB & < ABC

SOLUTION:

Law oF CosiNes
ACZ?=(AD)?* +(CD)?
- 2(AD)({cD)cos (ADC)
» (270)2 + (190)?
-2(270)(190) cos 75°
AC= 287.2m
FROM THE LaAwW OF

SINES®
SIN CACD _ sin T75°
270 287.13
41270 o
LALD = 5""‘[(267.'3) SIN 75]
= 65.2714°
THEN

¢BCA = 90°-65.27T14°
= 24.7286°
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AGAIN FROM THE LAW
OF COSINES'
(AB)? = (AC)2+(BC)

- 2(AC)(BC) cos (BCA)

= (287.13)%+ (160)°
- 2(287.13X160)cos 24 7286°

AB= 156.80m X |56.86m

FROM LAW OF SINES:

SIN ABC - SiN BCA
AC AR

wfae
CABC= SN [;5 SIN w-l

-1 287.13 7
SN [.56 eosau24. 286;]

= |130.0°
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T°
e (cos 262 (24T

= 495. 65 m
RESULTS:
DE=: 8iIl.om

EF=4957m
FG = 548 3m
SOLUTION :

CDEG = 180%-55%~ 87" =32 | 4.13

Joocom I
FROM LAW OF SINES: 12.32°_\ 1 ﬁzz 73° ,
sin 38° s 87° '
g T -
500.0 DE ' ¢
R/ B 1

= s B8T7°
DE = (500) T
SIN 38° sy 55°
S500.0 G
\.. 3000 ™
SIN 55°
EGg= 0) ———
G= (500.0) T ) "
- 665.262m Za“f'/rjuoom
LGEF= 92°.38°: 54° A
L EGF = 134°-87°:47° DeETERMINE : H
THEN 4 GFE= 180°- 54%47°
‘GFE-79° 5‘.43:—'0_0.
FROM THE LAW OF SINES 3000
SIN 54° _ sIN 79° . 5,,;'&&".]: 1.910°
FG 665262 e 2000
- Sy 54° « = 22.73% 12.32°= 10.41°
.262) Siae° SN sin (12.32-1.910)
= S48 .28 m 3000 BC
SIN4T°, s T79° o SIN 10:4)

EF 665.262 ~ 3000
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413 con't.
ac- 000 sin (12 32« 1.910)
sk 10 41
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M 20004+ 100+ BC <und 22 73°

» 2000 + 100 +{3000Xs1n 22 73)
= 3259m
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= 3. 04) em
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Li*Ly » 2Y =
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= 486 9em
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1TSS 410
s Pe o0
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\ oo 7 e
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4.29 Posrrma = 125 * Am  v=iloV
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= /ocoowm
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